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QUESTION 1

Click the Exhibit button.

Nightly.0 12:05 am 5 GB
Hourly.0 10:00 pm 10 GB
Hourly.1 6:00 pm 25 GB
Hourly.2 2:00 pm 10 GB
Hourly.3 10:00 am 25 GB
Hourly.4 6:00 am 5 GB

A client has a SnapMirror relationship between two sites that is scheduled to run once a day at 12:15 a.m. They have a
network connection between two sites thatprovides 100 Mbps on bandwidth. By performing the backup at this time, they
can maximize their bandwidth use.

Referring to the exhibit, how long does the SnapMirror update take to finish?

A. one hour

B. four hours

C. three hours

D. two hours

Correct Answer: D

QUESTION 2

A customer\\'s infrastructure consists of multiple ONTAP clusters, both physical and virtual. The clusters replicate some
data with each other. You want to generate a comprehensive report of all the replication that is present on the
infrastructure.

In this scenario, which tool accomplishes this task?

A. OnCommand System Manager

B. Storage Replication Adapter

C. OnCommand Unified Manager

D. OnCommand Workflow Automation

Correct Answer: A
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QUESTION 3

You experience a nhode outage as a result of a component failure in a high-availability (HA) pair. You replace the failed
component and get thenode booted up again, but are unable to perform the giveback operation. The onscreen error is:

"Connected to partner, Takeover is not possible: Storage failover mailbox disk state is invalid, Local node has
encountered errors while reading the storage failover partner\\'s mailbox disks. Local hode missing partner disks"

What are two ways to solve this problem? (Choose two.)
A. Correct the shelf cabling errors.

B. Destroy the root aggregate.

C. Correct the failover group configuration.

D. Destroy the mailboxes on both nodes.

Correct Answer: AC

QUESTION 4

A FAS2750 cluster administrator experiences network issues during replication updates that pass over a low- bandwidth
WAN link to their DR site. They also replicate locally to another cluster for testing and development. The administrator
wants to enable network compression only on the existing WAN Link SnapMirror jobs.

In this scenario, which statement is correct?

A. Network compression must be enabled when initializing the replica, the current jobs need to be deleted and new
ones created.

B. Network compression is a global option and it cannot be used.
C. The current DR transfers must be aborted and the option enabled on each job, then resume the transfer.
D. Network compression ispossible but not on a FAS2750.

Correct Answer: C

QUESTION 5

You must determine if there have been any backup problems overnight. Which two reports in OnCommand Unified
Manager 6.2 would provide you with the required information? (Choose two.)

A. Unresolved Incidents and Risks area
B. On Command Unified Manager Dashboard
C. On Command Cluster Events Details

D. On Command Job Events Details
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Correct Answer: BD

QUESTION 6

A customer has application data corruption on a LUN that is in a volumewith six other data LUNs. The customer needs
to restore the corrupted LUN from a Snapshot copy without affecting the other six LUNs. Which process would
accomplish this task?

A. Use volume SnapRestore.

B. Use LUN mapping.

C. Use the volume Snapshot partial-restore file.

D. Use a single-file restore.

Correct Answer: D

Explanation: https://library.netapp.com/ecmdocs/ECMP1196784/html/GUID-17286F40-
08CA-4EB0-8788-3F3F70D185C4.html

QUESTION 7

A customer has just purchased a new 2-node AFF A220 cluster running ONTAP 9.7 and moved the older 4- node
FAS2650 cluster running ONTAP 9.5 to an off-site location. They want to configure replication to the FAS2650 cluster
for both disaster recovery and long- term archiving.

In thisscenario, how would the customer accomplish this task?

A. Upgrade the FAS2650 cluster to ONTAP 9.7, then configure SnapMirror with type TDP.

B. Leave the ONTAP versions, then configure SnapMirror with type XDP.

C. Downgrade the AFF A220 cluster to ONTAP 9.5, then configure SnapMirror with type XDP.

D. Leave the ONTAP versions, then configure SnapMirror with type DP.

Correct Answer: A

QUESTION 8

A client has two regional offices that use SnapMirror cross-site replication to host disaster- recovery mirrors for both
offices. Aco-worker at one office is requesting read/write access to one of the volume mirrors. You must accomplish this
task without interrupting data access or replication.

In this scenario. how should you proceed?

A. Create a FlexVol volume on the destination cluster so that it is writeable for the co- worker.
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B. Create a FlexClone volume based on one of the Snapshot copies at the destination so that it is writeable for the co-
worker.

C. Break the SnapMirror relationship between the local and remote clusters, andmake the destination volume writeable
for the co-worker.

D. Modify the export policy on the destination mirror volume so that it is now writeable for the co-worker.

Correct Answer: B

QUESTION 9

Your customer needs to activate a destination SVM DRfollowing a disaster. In this situation, which two actions should
be performed? (Choose two.)

A. Shut down the source cluster.

B. From the destination cluster, break the SVM DR relationship.
C. From the source cluster, break the SVM DR relationship.

D. Start the destination SVM.

Correct Answer: AD

QUESTION 10

You are the administrator of an ONTAP cluster, where the majority of users are using Linux machines with home
directories mounted using NFS. You keep six daily, four weekly, and one monthly Snapshot copy locally. However, you
do not replicate the data to another instance of ONTAP. One of your users reports having accidentally deleted a file, but
does not remember the self-serve restore procedure.

How does the user restore the file without having administrator privileges on the cluster?

A. Issue the snapshot restore-file command.

B. Copy the deletedfile from the .snapshot directory.

C. Issue the volume snapshot restore command.

D. Using ONTAP System Manager, restore the volume from a Snapshot copy.

Correct Answer: B

QUESTION 11

You are asked to re-purpose a NetApp FAS cluster. You need to verify that all encrypted data has been securely
erased. Which two features would allow you to securely re-purpose the array? (Choose two.)

A. Secure Purge
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B. SnapLock Compliance

C. Disk Sanitize

D. NetApp Aggregate Encryption
Correct Answer: AD

Reference: https://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.pow- nve%2FGUID-
EAD13D8E-0219-45B6-A2C6-B25B76CICALA. .html

QUESTION 12

You want to conserve disk space in your SnapVault destinations. You enable storage efficiency on each of the
secondary volumes. Which two statements are true in this scenario? (Choose two.)

A. Storage efficiency can be enabled on the secondary volume and SnapVault will manage the schedule.

B. Storage efficiency can be enabled on the secondary volume, but a manual schedule will need to be assigned.
C. If storage efficiency is enabled on the primary volume, it will be preserved on the secondary volume.

D. SnapVault implicitly uses storage efficiency.

Correct Answer: AC

Explanation: (https://library.netapp.com/ecmdocs/ECMP1196819/html/GUID-33E5E672-
6719-4C76-97F7-F1D1CF7C8185.html)

QUESTION 13

Click the Exhibit button.
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Error

Using peer-address 192.168.100.153: An introductory RPC to the peer address "192.168.100.153" failed to connect: RPC: Remote system
error [from mgwd on node "cluster2-01" (VSID: -1) to xcintro at 192.168.100.153]. Verify that the peer address is correct and try again.

17 Initiator Cluster N . 1'% Target Cluster
(cluster2)
Initiator Cluster Intercluster LIFs Intercluster LIFs addresses
IPspace Default © Target Cluster 192.168.100.153
Intercluster LIF IP
(clu..l) 192.168.0.143
Addresses

The effective cluster version of the remote cluster is earlier than
ONTAP 96

You are configuring cluster peering from cluster2 to clusterl on your ONTAP 9.7 clusters using ONTAP System
Manager. You are given the details shown below to set up the cluster peer relationship. You want to determine why the
peering has failed.

Cluster2 intercluster LIFIP: 192.168.0.143 Subnet: 255.255.255.0 Port: eOe passphrase: netappl1234

Clusterl intercluster LIF IP: 192.168.0.153 Subnet: 255.255.255.0 Port: eOe passphrase: netappl1234

Referring to the exhibit, which statement is correct?

A. The Source Cluster IP is incorrect.

B. The Target Cluster Passphrase is incorrect.

C. The Target Cluster IP is incorrect.

D. The Source Cluster Passphrase is incorrect.

Correct Answer: CD

QUESTION 14

Click the Exhibit button.
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Create a destination SVM.

'

Create a replication job schedule.

Replicate entire SVM
configuration?

Yes

Exclude volumes, if required.

Configure network and
protocols for data access.

You must set up SVM replication for the first time using CLI. This replication will be used for DR purposes. The SVM
configuration does not need to be replicated at this time. In this configuration, you will be reusing a default policy.
Referring to the exhibit, what are two missing steps from the SVM replication workflow? (Choose two.)

A. Exclude specific LIFs and protocols from the replication policy.

B. Create a relationship with the id-preserve option set to false.

C. Initialize the newly created SnapMirror relationship.
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D. Initialize the relationship with the id-preserve optionset to true.

Correct Answer: BD

QUESTION 15

A previous administrator had configured an external backup system to use node-scoped NDMP for backups, but you
want to change this system to use SVM-scoped NDMP. How do you make this change in ONTAP?

A. Turn off node-scoped NDMP on the SVMs being backed up.
B. Restart the NDMP service on the cluster.

C. Restart the NDMP service on the SVMs being backed up.
D. Turn off node-scoped NDMP on the cluster.

Correct Answer: D
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